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---------------------------------------------------------------------------------- 
Question 1:    If ( , )a b  is the solution of the equation (2 6 ) (4 5 ) 8 7i x i y i+ + − = − − , 
where  1i = − , then ?ab =  
Answer: ( 2)( 1) 2ab = − − =  
 

Question 2: If the system of linear equations   
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Answer: If 2
3

k = −  then the system is inconsistent. 

Question 3  

If  ( )2, 1−  is a solution of the linear system    
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Answer:   A)    7 
 
Question 4 

If the linear system     
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    is dependent system, then the value of  k  is 

 

 
 
 
 

Answer:   A)    1 
 
Question 5:    

If  ( ),x y  is the solution of the system
log( 1) 3

  
log( 2) 2

y x
y x
= + +⎧

⎨ = + +⎩
,    then 27x =  

A) 15 B) -18 C) -24 D) -4 E) 36 
 

 

Answer (C): ( )827 27 3 8 24
9

x ⎛ ⎞= − = − = −⎜ ⎟
⎝ ⎠

 

A) 7  D) 9  

B) 8  E) 4  

C) 6    

A) 1 D) 2  

B) 5  E) 3  

C) 4    


